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POWER INDICES AND SURDS

[ ?kkar] ?kkrkad ,oa dj.kh ]

1. By how much does 12 18  exceed 3 2  ?

3 2  ls 12 18  fdruk vf/d gS ?

(a)  2 3 2 (b)  2 3 2

(c) 3 2 2 (d) 3 2 2

2. The value of 
1

5 2 6
5 2 6

 


 is ?

1
5 2 6

5 2 6
 


 dk eku D;k gS ?

(a) 2 2 (b) 2 3

(c) 1 5 (d) 5 1

3. The value of 4 4 832 64 2   is ?

4 4 832 64 2   dk eku D;k gS ?
(a) 12 (b) 16
(c) 18 (d) 24

4. 33 32 32 3 4 500   is equal to ?

33 32 32 3 4 500   ds cjkcj gS ?

(a) 34 6 (b) 3 24

(c) 36 4 (d) 916

5. Simplify : 

3 2

2 3 2 3

2 5 3

 
 
  
 

 
 
 

 ?

ljy djsa % 

3 2

2 3 2 3

2 5 3

 
 
  
 

 
 
 

 ?

(a) 
1

5 3
2
 (b) 2 5 3

(c) 1 (d) 0

6. The value of 0.16 0.04(243) (243)  is equal to ?

0.16 0.04(243) (243)  dk eku fdlds cjkcj gS ?
(a) 0.16 (b) 3

(c) 
1

3
(d) 0.04

7. The value of (256)0.16 × (256)0.09 is ?

(256)0.16 × (256)0.09 dk eku D;k gS ?

(a) 256.25 (b) 64
(c) 16 (d) 4

8. The simplification of 
0.06 0.06 0.06 0.05 0.05 0.05

0.06 0.06 0.06 0.05 0.05 0.05

    

    

?
0.06 0.06 0.06 0.05 0.05 0.05

0.06 0.06 0.06 0.05 0.05 0.05

    

    
 dk ljyhdj.k gS ?

(a) 1 (b) 0.1
(c) 0.01 (d) 0.001

9. Simplify : 
0.05 0.05 0.05 0.04 0.04 0.04

0.05 0.05 0.002 0.04 0.04

    

   
 ?

0.05 0.05 0.05 0.04 0.04 0.04

0.05 0.05 0.002 0.04 0.04

    

   
 ljy djsa ?

(a) 1 (b) 0.1
(c) 0.01 (d) 0.001

10. Simplify : 2 2

5.32 56 5.32 44

(7.66) (2.34)

  


 ?

ljy djsa % 2 2

5.32 56 5.32 44

(7.66) (2.34)

  


 ?

(a) 7.1 (b) 8.5
(c) 10 (d) 12

11. Which one of the following is the least

3 33 , 2 , 2 and 4  ?

buesa ls lcls NksVh la[;k dkSu&lh gS 3 33 , 2 , 2 and 4 rFkk

3 4 ?

(a) 2 (b) 3 2

(c) 3 (d) 3 4

12. Which one of the following is the biggest
3 644, 6, 15 , and 12 245 ?

3 644, 6, 15 rFkk 12 245  buesa ls lcls cM+k dkSu&lk gS ?

(a) 3 4 (b) 4 6

(c) 6 15 (d) 12 245

13. Simplify : 
4 4

3 36 9 6 95 5
   
   
   

?

ljy djsa % 
4 4

3 36 9 6 95 5
   
   
   

 ?

(a) 52 (b) 54

(c) 58 (d) 512
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14. If 272n–1=(243)3 then the value of n is ?

;fn 272n–1=(243)3 gS] rks n dk eku Kkr djsa ?
(a) 3 (b) 6
(c) 7 (d) 9

15. If 3x+8 = 272x+1, the value of x is ?

;fn 3x+8 = 272x+1 gS] rks x dk eku D;k gS ?
(a) 7 (b) 3
(c) –2 (d) 1

16.  8 4 2   equals ?

 8 4 2   ds cjkcj gS ?

(a) 2 2 (b) 2 2

(c) 2 (d) – 2
17. 82/3 is equal to ?

82/3 ds cjkcj gS ?

(a) 
1

5
2

(b) 
1

21
3

(c) 4 (d) 
1

3
2

18. The simplified form of (163/2 + 16–3/2) is ?

(163/2 + 16–3/2) dk ljyhd`r eku gS ?

(a) 0 (b) 
4097

64

(c) 1 (d) 
16

4097

19. 163/4 is equal to ?

163/4 ds cjkcj gS ?

(a) 4 2 (b) 8

(c) 2 2 (d) 16

20. (0.01024)1/5 is equal to ?

(0.01024)1/5 ds cjkcj gS ?
(a) 4.0 (b) 0.04
(c) 0.4 (d) 0.00004

21. (160.16 × 20.36) is equal to ?

(160.16 × 20.36) ds cjkcj gS ?
(a) 2 (b) 16
(c) 32 (d) 64

22.
22

3
1

(64)
4


  

  
 

 is equal to ?

22

3
1

(64)
4


  

  
 

 ds cjkcj gS ?

(a) 1 (b) 2

(c) 
1

2
(d) 

1

16

23.
1 2 1 2

5 3 5 3

      
 simplifies to ?

1 2 1 2

5 3 5 3

      
 dk ljyhdj.k gS ?

(a) 5 6 (b) 2 5 6

(c) 5 6 (d) 2 5 3 6

24.
2 3 2 3 3 1

2 3 2 3 3 1

         
 simplies to ?

2 3 2 3 3 1

2 3 2 3 3 1

         
 dk ljyhdj.k gS ?

(a) 2 3 (b) 2 3

(c) 16 3 (d) 40 3

25.

2 2

5 3 5 3

5 3 5 3

              
 is equal to ?

2 2

5 3 5 3

5 3 5 3

              
 ds cjkcj gS ?

(a) 64 (b) 62
(c) 66 (d) 68

26. (6.5 × 6.5 – 45.5 + 3.5 × 3.5) is equal to ?

(6.5 × 6.5 – 45.5 + 3.5 × 3.5) ds cjkcj gS ?
(a) 10 (b) 9
(c) 7 (d) 6

27. (7.5 × 7.5 – 37.5 + 2.5 × 2.5) is equal to ?

(7.5 × 7.5 – 37.5 + 2.5 × 2.5) ds cjkcj gS ?
(a) 100 (b) 80
(c) 60 (d) 30

28.  
1

636  is equal to ?

 
1

636  ds cjkcj gS ?

(a) 1 (b) 6

(c) 6 (d) 3 6

29.

4

38

125

 
  
 

 simplifies to ?

4

38

125

 
  
 

 dk ljyhdj.k gS ?

(a) 
625

16
(b) 

625

8

(c) 
625

32
(d) 

16

625

30. The value of (256)0.16 × (16)0.18 is ?

(256)0.16 × (16)0.18 dk eku Kkr djsa ?
(a) 4 (b) –4
(c) 16 (d) 256
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31. The value of   12 8 3 2

5 24

 


 is ?

  12 8 3 2

5 24

 


 dk eku Kkr djsa ?

(a) 6 2 (b) 6 2

(c) 6 2 (d) 2 6

32. Simplify 

1
2 2

2 0364 2 8
 
  
  

 ?

1
2 2

2 0364 2 8
 
  
  

 ljy djsa ?

(a) 0 (b) 1

(c) 2 (d) 
1

2

33. The value of    
1 1 2

10 8412 140 8 60
 

 

is ?

   
1 1 2

10 8412 140 8 60
 

   dk eku Kkr

djsa ?
(a) 0 (b) 1
(c) 2 (d) 3

34. The value of 
1

11 2 30
11 2 30

 


 is ?

1
11 2 30

11 2 30
 


 dk eku Kkr djsa ?

(a) 2 5 (b) 2 6

(c) 1 6 (d) 1 5

35. Simplify

3 3 3

2 2 2

(1.5) (4.7) (3.8) 3 1.5 4.7 3.8

(1.5) (4.7) (3.8) 1.5 4.7 4.7 3.8 3.8 1.5

     

       
 ?

3 3 3

2 2 2

(1.5) (4.7) (3.8) 3 1.5 4.7 3.8

(1.5) (4.7) (3.8) 1.5 4.7 4.7 3.8 3.8 1.5

     

       

ljy djsa ?
(a) 0 (b) 1
(c) 10 (d) 30

36. Simplify 

1 1

2 2

1 1

3 4

(6.25) (0.0144) 1

(0.027) (81)




 ?

1 1

2 2

1 1

3 4

(6.25) (0.0144) 1

(0.027) (81)




 ljy djsa ?

(a) 0.14 (b) 1.4

(c) 1 (d) 1.4

37. Simplify 
0.41 0.41 0.41 0.69 0.69 0.69

0.41 0.41 0.41 0.69 0.69 0.69

    

    
 ?

0.41 0.41 0.41 0.69 0.69 0.69

0.41 0.41 0.41 0.69 0.69 0.69

    

    
 ljy djsa ?

(a) 0.28 (b) 1.41
(c) 1.1 (d) 2.8

38. Which of the following number is the least
2 3(0.5) , 0.49, 0.008. 0.23  ?

buesa ls lcls NksVh la[;k dkSu&lh gS
2 3(0.5) , 0.49, 0.008. 0.23 ?

(a) 2(0.5) (b) 0.49

(c) 3 0.008 (d) 0.23

39. Arrange the following in descending order :
3 6 44, 2, 3, 5 ?

fuEu la[;kvka dks vojksgh Øe esa fy[ksa 3 6 44, 2, 3, 5  ?

(a) 3 644 5 2 3   (b) 3 64 5 4 3 2  

(c) 342 5 4 2   (d) 3 642 5 4 3  

40. The greatest of the numbers (2.89)0.5, 2–(0.5)2,

0.5
1

1
1

2



 , 3  ?

buesa lcls cM+h la[;k dkSu&lh gS (2.89)0.5, 2–(0.5)2,

0.5
1

1
1

2



 , 3  ?

(a) (2.89)0.5 (b) 2–(0.5)2

(c) 

0.5
1

1
1

2



 (d) 3

41. Among which one is the greatest 33 42, 3, 5, 2 ?

buesa ls lcls cM+h la[;k dkSu&lh gS 33 42, 3, 5, 2  ?

(a) 4 5 (b) 2

(c) 3 3 (d) 3 2

42. If (125)2/3 × (625)–1/4 = (5)x, then the value of x is?

;fn (125)2/3 × (625)–1/4 = (5)x gS] rks x dk eku Kkr
dhft, ?

(a) 3 (b) 2
(c) 0 (d) 1

43. The value of 
0.13 0.07

0.25 0.075 0.2

(243) (243)

(7) (49) (343)



 
?
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0.13 0.07

0.25 0.075 0.2

(243) (243)

(7) (49) (343)



 
 dk eku Kkr dhft,  ?

(a) 
3

7
(b) 

7

3

(c) 1
3

7
(d) 

2
2

7

44. The value of 3 3 8 7 4 3     is ?

3 3 8 7 4 3     dk eku Kkr dhft, ?

(a) 1 (b) 2
(c) 3 (d) 8

45. 3 0.004096  is equal to ?

3 0.004096  ds cjkcj gS ?

(a) 4 (b) 0.4
(c) 0.04 (d) 0.004

46. The approximate value of 
2 12 2 21

2 28 98
  is ?

2 12 2 21

2 28 98
  dk eku yxHkx D;k gksxk ?

(a) 1.0727 (b) 1.0606
(c) 1.6026 (d) 1.6007

47.
2.3 2.3 2.3 1

2.3 2.3 2.3 1

  

  
 is equal to ?

2.3 2.3 2.3 1

2.3 2.3 2.3 1

  

  
 ds cjkcj gS ?

(a) 1.3 (b) 3.3
(c) 0.3 (d) 2.2

48. The ascending order of (2.89)0.5, 2–(0.5)2, 3  and

3 0.008  is ?

(2.89)0.5, 2–(0.5)2, 3  vkSj 3 0.008  dks vkjksgh Øe esa

fy[ksa ?

(a) 2–(0.5)2, 3 , 3 0.008 , (2.89)0.5

(b) 3 0.008 , (2.89)0.5, 3 , 2–(0.5)2

(c) 3 0.008 , 3 , (2.89)0.5, 2–(0.5)2

(d) 3 , 3 0.008 , 2–(0.5)2, (2.89)0.5

49. The greatest one of is 3 6 52, 3, 6, 5  ?

buesa ls lcls cM+h la[;k dkSu&lh gS 3 6 52, 3, 6, 5  ?

(a) 2 (b) 3 3

(c) 6 6 (d) 5 5

50. Given 2  = 1.414. The value of

8 2 32 3 128 4 50    is ?

fn;k gS 2  = 1.414] rks 8 2 32 3 128 4 50    dk

eku Kkr dhft, ?

(a) 8.484 (b) 8.526
(c) 8.426 (d) 8.876

51. If 15  = 3.88, then what is the value of 
5

3
 ?

;fn 15  = 3.88 gS] rks 
5

3
 dk eku Kkr dhft, ?

(a) 1.293 (b) 1.2934

(c) 1.29 (d) 1.295

52. The rationalising factor of 3 3  is ?

3 3  dk ifjes;dkjh xq.ku[k.M Kkr dhft, ?

(a) 
1

3
(b) 3

(c) –3 (d) 3

53. 2 2 2 .......    is equal to ?

2 2 2 .......    ds cjkcj gS ?

(a) 2 (b) 2 2

(c) 2 (d) 3

54. The value of 32 0.09 0.008 75%    of 2.80 is ?

32 0.09 0.008 75%    dk 2.80 dk eku Kkr dhft,
?
(a) 6 (b) 0.01
(c) –1 (d) 0.001

55. The value of

      2 2
3 3 3 3 33.5 2.5 3.5 8.75 2.5    is ?

      2 2
3 3 3 3 33.5 2.5 3.5 8.75 2.5    dk eku Kkr

dhft, ?
(a) 5.375 (b) 1
(c) 6 (d) 5

56. The value of    
3 3

3 2 2 3 2 2
 

    is ?

   
3 3

3 2 2 3 2 2
 

    dk eku Kkr dhft, ?

(a) 189 (b) 180
(c) 108 (d) 198

57.
5 3 3 2 2

3 2 5 2 5 3
 

  
 is equal to ?

5 3 3 2 2

3 2 5 2 5 3
 

  
 ds cjkcj gS ?

(a) 0 (b) 2 15

(c) 2 10 (d) 2 6
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58. The value of 
1 1 1 1

3.25 2.25 4.25 3.25 5.25 4.25 6.25 5.25
  

   

1 1

5.25 4.25 6.25 5.25


 
 is ?

1 1 1

3.25 2.25 4.25 3.25 5.25 4.25
  

  

1

6.25 5.25
 dk eku Kkr dhft, ?

(a) 1.00 (b) 1.25
(c) 1.50 (d) 2.25

59.
0 1

1 0

3 3

3 3








 is simplified to ?

0 1

1 0

3 3

3 3








 dk ljyhdj.k D;k gS ?

(a) –2 (b) –1
(c) 1 (d) 2

60.
10.3 10.3 10.3 1

10.3 10.3 10.3 1

  

  
 is equal to ?

10.3 10.3 10.3 1

10.3 10.3 10.3 1

  

  
 ds cjkcj gS ?

(a) 9.3 (b) 10.3
(c) 11.3 (d) 12.3

61.
1.49 14.9 0.51 5.1

14.9 5.1

  


 is equal to ?

1.49 14.9 0.51 5.1

14.9 5.1

  


 ds cjkcj gS ?

(a) 0.20 (b) 20.00
(c) 2.00 (d) 22.00

62. (0.04)–1.5 on simplification gives ?

(0.04)–1.5 dks gy djus ij izkIr gksxk ?

(a) 25 (b) 125
(c) 250 (d) 625

63.
   

   

3 3

2 2

0.96 0.1

0.96 0.096 0.1



 
 is simplified to ?

   
   

3 3

2 2

0.96 0.1

0.96 0.096 0.1



 
 dks ljy djsa ?

(a) 1.06 (b) 0.95
(c) 0.86 (d) 0.97

64. The value of 
64 0.008

16 0.8 0.04



 
 is ?

64 0.008

16 0.8 0.04



 
 dk eku gS ?

(a) 2 (b) 3.8
(c) 0.6 (d) 4.2

65. When  4 7  is presented in the form of perfect

square it will be equal to ?

tc  4 7  dks iw.kZ oxZ ds :i esa fy[kk tkrk gS rks og

fuEu esa ls fdlds cjkcj gksxk ?

(a)  
2

2 7 (b) 

2

7 1

2 2

 
  
 

(c)  
2

1
7 1

2

  
 

  
(d)  

2

3 4

66. The simplified form of 
2 7 5

7 5 12 5 12 7
 

  

is ?

2 7 5

7 5 12 5 12 7
 

  
 dk ljyhdj.k D;k gksxk ?

(a) 5 (b) 2
(c) 1 (d) 0

67.

1

21

2

 
  
 

 is equal to ?

1

21

2

 
  
 

 ds cjkcj gS ?

(a) 
1

2
(b) 2 2

(c) 2 (d) 
2

2

68.
1 1 1 1 1

3 4 4 5 5 6 6 7 7 8
    

    

1

8 9
 is ?

1 1 1 1 1

3 4 4 5 5 6 6 7 7 8
    

    

1

8 9
 dk eku gksxk ?

(a) 3 (b) 3 3

(c) 3 3 (d) 5 3

69. (16)0.16 × (16)0.04 × (2)0.2 is equal to?

(16)0.16 × (16)0.04 × (2)0.2  ds cjkcj gS ?
(a) 1 (b) 2
(c) 4 (d) 16

70. Simplify : 
1 1 1

100 99 99 98 98 97
  

  

1 1
.....

97 96 2 1
 

 
 ?
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ljy djs a % 
1 1 1

100 99 99 98 98 97
  

  

1 1
.....

97 96 2 1
 

 
?

(a) 10 (b) 9
(c) 13 (d) 11

71.
1 1

2 3 5 2 3 5

 
 
     

 in simplified form

equals to ?

1 1

2 3 5 2 3 5

 
 
     

 dk ljyhdr̀ eku fdlds

cjkcj gS ?

(a) 1 (b) 2

(c) 
1

2
(d) 0

72. 3 32 2 3 3       is equal to ?

3 32 2 3 3       ds cjkcj gS ?

(a) 65 (b) 65/6

(c) 6 (d) None of these

73.    
 2

2
2




  is equal to ?

   
 2

2
2




  ds cjkcj gS ?

(a) 16 (b) 8
(c) –8 (d) –1

74. The value of 
0.796 0.796 0.204 0.204

0.796 0.204

  


 is ?

0.796 0.796 0.204 0.204

0.796 0.204

  


 dk eku D;k gS ?

(a) 0.408 (b) 0.59
(c) 0.592 (d) 1

75.
 

 

3

2

2.3 0.027

2.3 0.69 0.09



 
 is equal to ?

 
 

3

2

2.3 0.027

2.3 0.69 0.09



 
 ds cjkcj gS ?

(a) 2.60 (b) 2.00
(c) 2.33 (d) 2.80

76.
5.71 5.71 5.71 2.79 2.79 2.79

5.71 5.71 5.71 2.79 2.79 2.79

    

    
 in simplified form

is ?

5.71 5.71 5.71 2.79 2.79 2.79

5.71 5.71 5.71 2.79 2.79 2.79

    

    
dk ljyhdr̀ eku D;k

gS ?

(a) 8.5 (b) 8.6
(c) 2.82 (d) 2.92

77. The value of

     
     

3 3 3

2 2 2

1.5 4.7 3.8 3 1.5 4.7 3.8

1.5 4.7 3.8 1.5 4.7 4.7 3.8 3.8 1.5

     

       

is ?

     
     

3 3 3

2 2 2

1.5 4.7 3.8 3 1.5 4.7 3.8

1.5 4.7 3.8 1.5 4.7 4.7 3.8 3.8 1.5

     

       
 dk

eku Kkr dhft, ?

(a) 0 (b) 1
(c) 10 (d) 30

78. Simplifies to 
   

       

3 3

2 2

0.73 0.27

0.73 0.27 0.73 0.27

  
 

    
 ?

   
       

3 3

2 2

0.73 0.27

0.73 0.27 0.73 0.27

  
 

    
dk ljyhdj.k D;k

gS ?
(a) 1 (b) 0.4087
(c) 0.73 (d) 0.27

79. [3–4(3 – 4)-1]-1 is equal to ?

[3–4(3 – 4)-1]-1 ds cjkcj gS ?
(a) 7 (b) –7

(c) 
1

7
(d) –

1

7

80. What will be the number of two digits made from
the units and tens digits of the expression 212n –
64n where n is a positive integer ?

nks vadksa dh og dkSu&lh la[;k gS tks O;atd 212n – 64n ds
bZdkbZ rFkk ngkbZ vad ls cuk gS] tgk¡ n ,d /ukRed iw.kk±d
gS ?
(a) 10 (b) 100
(c) 30 (d) 02

81. The smallest of 8 5, 7 6, 10 3    and is

11 2  ?

buesa ls lcls NksVh la[;k D;k gS 8 5, 7 6, 10 3  

rFkk 11 2  ?

(a) 8 5 (b) 7 6

(c) 10 3 (d) 11 2

82. Which of the following is the largest number

3 4 62, 3, 4, 6  ?

3 4 62, 3, 4, 6  buesa ls lcls cM+h la[;k dkSu&lh gS ?

(a) 2 (b) 3 3

(c) 4 4 (d) 6 6
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83. Which is the greatest among

     19 17 , 13 11 , 7 5    and  5 3 ?

     19 17 , 13 11 , 7 5    rFkk  5 3 ] esa

lcls cM+h la[;k dkSu&lh gS ?

(a)  19 17 (b)  13 11

(c)  7 5 (d)  5 3

84. The greatest number among 3 32, 3, 5  and 1.5

is ?

3 32, 3, 5  vkSj 1.5 esa dkSu&lh la[;k lcls cM+h gS ?

(a) 3 2 (b) 3 5

(c) 3 (d) 1.5

85. The greatest of 36 42, 3, 4, 5  is ?

36 42, 3, 4, 5  buesa lcls cM+h la[;k gS ?

(a) 2 (b) 6 3

(c) 3 4 (d) 4 5

86. If x = 
5 3

5 3




 and y = 

5 3

5 3




, then (x + y)

equals?

;fn x = 
5 3

5 3




 vkSj y = 

5 3

5 3




 gS] (x + y) dk eku

D;k gS ?
(a) 8 (b) 16

(c) 2 15 (d)  2 5 3

87. Which of the following is closest to 3  ?

bues ls dkSu&lh la[;k 3  fudVre gS ?

(a) 
9

5
(b) 1.75

(c) 
173

100
(d) 1.69

88. 0.75 × 0.75 – 2 × 0.75 × 0.25 + 0.25 × 0.25 is
equal to ?

0.75 × 0.75 – 2 × 0.75 × 0.25 + 0.25 × 0.25 ds
cjkcj gS ?
(a) 250 (b) 2500
(c) 2.5 (d) 0.25

89. The greatest one of 3 44, 4, 6  and 6 8  is ?

buesa lcls cM+h la[;k dkSu&lh gS 3 44, 4, 6  vkSj 6 8  ?

(a) 4 (b) 3 4

(c) 4 6 (d) 6 8

90.
12

3 5 2 2 
 is equal to ?

12

3 5 2 2 
 ds cjkcj gS ?

(a) 1 5 2 16   (b) 1 5 2 10  

(c) 1 5 2 10   (d) 1 5 2 10  

91.
1 1 1

3
3 3 3 3 3

 
    

  
 is equal to ?

1 1 1
3

3 3 3 3 3

 
    

  
 ds cjkcj gS ?

(a) 1 (b) 3

(c) 3 3 (d) 3 3

92. 8 2 15  is equal to ?

8 2 15  ds cjkcj gS ?

(a) 5 3 (b) 5 3

(c) 5 3 (d) 3 5

93.

1
9 2

24

2

4 2.2
8

2 2

 
  
  
  
   

    

 is equal to ?

1
9 2

24

2

4 2.2
8

2 2

 
  
  
  
   

    

 ds cjkcj gS ?

(a) 32 (b) 8
(c) 1 (d) 0

94.
3 2 2 6 2 3

6 3 3 1 6 2
 

  
 is equal to ?

3 2 2 6 2 3

6 3 3 1 6 2
 

  
 ds cjkcj gS ?

(a) 3 (b) 2

(c) 0 (d) 3

95.
1 1 1 1 1

1.4 4.7 7.10 10.13 13.16

 
     
 

 is equal to ?

1 1 1 1 1

1.4 4.7 7.10 10.13 13.16

 
     
 

 ds cjkcj gS ?

(a) 
1

3
(b) 

5

16

(c) 
3

8
(d) 

41

7280
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96.
137 137 133 133 18221

137 137 137 133 133 133

   

    
 is equal to ?

137 137 133 133 18221

137 137 137 133 133 133

   

    
 ds cjkcj gS ?

(a) 4 (b) 270

(c) 
1

4
(d) 

1

270

97.
2.75 2.75 2.75 2.25 2.25 2.25

2.75 2.75 2.75 2.25 2.25 2.25

     
  

     
 is equal to ?

2.75 2.75 2.75 2.25 2.25 2.25

2.75 2.75 2.75 2.25 2.25 2.25

     
  

     
 ds cjkcj gS ?

(a) –5 (b) 0.5
(c) –0.5 (d) 5

98. The greatest among

7 5, 5 3, 9 7, 11 9     is ?

buesa ls dkSu&lk ifjes; lcls cM+k gS

7 5, 5 3, 9 7, 11 9     ?

(a) 7 5 (b) 5 3

(c) 9 7 (d) 11 9

99. Greatest among the numbers 3 649, 3, 16, 80  is ?

bu esa ls lcls cM+k dkSu gS 3 649, 3, 16, 80  ?

(a) 3 9 (b) 3

(c) 4 16 (d) 6 80

100. The least one of 42 3, 2 5, 8  and 3 2  is ?

buesa ls lcls NksVk dkSu gS 42 3, 2 5, 8  vkSj 3 2  ?

(a) 2 3 (b) 42 5

(c) 8 (d) 3 2

101. Given that 3  = 1.732, the value of

3 6

5 3 2 12 32 50



  
 is ?

fn;k x;k gS 3  = 1.732] rks 3 6

5 3 2 12 32 50



  
 dk

eku Kkr dhft, ?
(a) 4.899 (b) 2.551
(c) 1.414 (d) 1.732

102. Given that 5  = 2.236 and 3 = 1.732 : the value

of 
1

5 3
 is ?

5  = 2.236 vkSj 3 = 1.732 fn;k x;k gS] rks 
1

5 3

dk eku D;k gksxk ?

(a) 0.564 (b) 0.504
(c) 0.252 (d) 0.202

103. 33 32 32 3 4 500   is equal to ?

33 32 32 3 4 500   ds cjkcj gS ?

(a) 34 6 (b) 3 24

(c) 36 4 (d) 916

104. 12 12 12 .......    is equal to ?

12 12 12 .......    ds cjkcj gS ?

(a) 3 (b) 4
(c) 6 (d) 2

105. If a = 
3

2
, then the value of 1 1a a   is ?

;fn a = 
3

2
 gS] rks 1 1a a   dk eku Kkr dhft, ?

(a) 3 (b) 
3

2

(c) 2 + 3 (d) 2 – 3

106. If a = 
5 1

5 1




, b = 

5 1

5 1




, the value of 

2 2

2 2

a ab b

a ab b

   
   

is ?

;fn a = 
5 1

5 1




, b = 

5 1

5 1




 gS] rks 

2 2

2 2

a ab b

a ab b

   
   

 dk

eku Kkr dhft, ?

(a) 
3

4
(b) 

4

3

(c) 
3

5
(d) 

5

3

107. (0.04)–(1.5) is equal to ?

(0.04)–(1.5) ds cjkcj gS ?
(a) 25 (b) 125
(c) 60 (d) 5

108. The value of 3 3 31372 1458 343   is ?

3 3 31372 1458 343   dk eku D;k gS ?
(a) 18 (b) 15
(c) 13 (d) 12

109.
2 3 1

5 3 6 3 6 5

 
   

   
 is equal to ?

2 3 1

5 3 6 3 6 5

 
   

   
 ds cjkcj gS ?

(a) 2 6 (b) 2 5

(c) 2 3 (d) 0
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110. Simplifies to 
3 2 3 2

3 2 3 2

   
   

 ?

3 2 3 2

3 2 3 2

   
   

 dks ljy djsa ?

(a) 2 6 (b) 4 6

(c) 2 3 (d) 3 2

111.
1 1 1 1 1

9 8 8 7 7 6 6 5 5 4
   

    
 is

equal to ?

1 1 1 1 1

9 8 8 7 7 6 6 5 5 4
   

    
 ds

cjkcj gS ?
(a) 5 (b) 1
(c) 3 (d) 0

112.  2 7 2 10   is equal to ?

 2 7 2 10   ds cjkcj gS ?

(a) 2 (b) 7

(c) 5 (d) 2 5

113. By how much does  12 18  exceed

 2 3 2 2  ?

 2 3 2 2  ls  2 3 2 2  fdruk vf/d gS ?

(a) 2 (b) 3

(c) 2 (d) 3

114.
   
 

3 3
5.624 4.376

5.624 5.624 5.624 4.376 4.376 4.376



      is equal

to ?

   
 

3 3
5.624 4.376

5.624 5.624 5.624 4.376 4.376 4.376



      ds cjkcj

gS ?

(a) 10 (b) 1.248
(c) 20.44 (d) 1

115.    

2 2

2 2

(998) (997) 45

98 97

 

  = ?

   

2 2

2 2

(998) (997) 45

98 97

 

  cjkcj gS ?

(a) 1995 (b) 195
(c) 95 (d) 10

116. Given that 5  = 2.24, then the value of

3 5

2 5 0.48
 is ?

fn;k x;k gS 5  = 2.24 rks 
3 5

2 5 0.48
 dk eku D;k gS ?

(a) 0.168 (b) 1.68
(c) 16.8 (d) 168

117. Given that 2  = 1.414, then the value of 
1

2 1
is ?

fn;k x;k gS 2  = 1.414 rks 
1

2 1
 dk eku D;k gS ?

(a) 0.414 (b) 2.414
(c) 3.414 (d) 5.414

118. If 3  = 1.732, is given, then the value of 
2 3

2 3





is ?

;fn 3  = 1.732 fn;k x;k gS] rks 
2 3

2 3




 dk eku D;k gS?

(a) 11.732 (b) 13.928
(c) 12.928 (d) 13.925

119. If x = 1 + 2 3 , then the value of 
1

1
x
x

 
  

 
 is?

;fn x = 1 + 2 3  gS] rks 
1

1
x
x

 
  

 
 dk eku D;k gS?

(a) 1+ 2 3 (b) 2 + 3

(c) 3 + 2 (d) 2 3 –1

120. If 
1

2x
x

    then the value of 
2 1

2 1

1n

n
x

x



  where n

is a positive integer is ?

;fn 
1

2x
x

    gS] rks 2 1

2 1

1n

n
x

x



  dk eku D;k gS] tgk¡

n ,d /ukRed iw.kk±d gS ?
(a) 0 (b) 2
(c) –2 (d) –5

121. If m and n(n > 1) are whole numbers such that
mn = 121, the value of (m – 1)n+1 is ?

;fn m vkSj n(n > 1) iw.kZ la[;k,sa bl izdkj gSa fd mn =

121 gS] rks (m – 1)n+1 dk eku Kkr dhft, ?

(a) 1 (b) 10
(c) 121 (d) 1000

122.
1 1 1 1 1

3 8 8 7 7 6 6 5 5 2
   

    
 = ?

1 1 1 1 1

3 8 8 7 7 6 6 5 5 2
   

    
 cjkcj gS ?



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 333 ]

THATHAGAT

IN
STITUTE

(a) 5 (b) 4
(c) 3 (d) 2

123. (256)0.16 × (4)0.36 is equal to ?

(256)0.16 × (4)0.36 ds cjkcj gS ?
(a) 64 (b) 16
(c) 256.25 (d) 4

124. The value of    
2 2

0.337 0.126 0.337 0.126

0.337 0.126

  


 is ?

   
2 2

0.337 0.126 0.337 0.126

0.337 0.126

  


 dk eku D;k gS ?

(a) 4 (b) 0.211
(c) 0.463 (d) 0.4246

125. Evaluate 
3 4

16 9
4 3
  if 12  = 3.46 ?

ljy djsa 
3 4

16 9
4 3
  ;fn 12  = 3.46 ?

(a) 3.46 (b) 10.38
(c) 13.84 (d) 24.22

126. If 3x+y = 81 and 81x–y = 3, then the value of x is ?

;fn 3x+y = 81 vkSj 81x–y = 3 gS] rks x dk eku Kkr dhft,?

(a) 42 (b) 
15

8

(c) 
17

8
(d) 39

127.
3 2 2 3

3 2 2 3




 is equal to ?

3 2 2 3

3 2 2 3




 ds cjkcj gS ?

(a) 5 2 6 (b) 
3 2 6

2



(c) 5 2 3 (d) 5 2 3

128. Simplified form of  
55/3

5 3/5x


 
 
  

 is ?

 
55/3

5 3/5x


 
 
  

 dk ljyhd`r :i gS ?

(a) x5 (b) x–5

(c) x (d) 
1

x

129.
3 1 2 1 3 1 2 1

3 1 2 1 3 1 2 1

       
     

 is simplified to ?

3 1 2 1 3 1 2 1

3 1 2 1 3 1 2 1

       
     

 dk ljyhd`r eku gS ?

(a) 10 (b) 12
(c) 14 (d) 18

130. Find the value of x in the expression : 4 3 1 2x 

?

O;atd % 4 3 1 2x   esa x dk eku Kkr dhft, ?

(a) 3 (b) 6
(c) 4 (d) 5

131.
7 5 7 5

7 5 7 5

 


 
 is equal to ?

7 5 7 5

7 5 7 5

 


 
 ds cjkcj gS ?

(a) 12 (b) 6 35

(c) 6 (d) 2 35

132.
2 1 1

2 2 2
6 2 7 6 8 7

 
     

   
 is equal to ?

2 1 1
2 2 2

6 2 7 6 8 7

 
     

   
 ds cjkcj gS ?

(a) 0 (b) 2 2

(c) 2 (d) 2 7

133.

122
1

2

     
    
     

 is equal to ?

122
1

2

     
    
     

 ds cjkcj gS ?

(a) 
1

16
(b) 16

(c) –
1

16
(d) –16

134.
256 256 144 144

112

  
 is equal to ?

256 256 144 144

112

  
ds cjkcj gS ?

(a) 420 (b) 400
(c) 360 (d) 320

135. [8.7 × 8.7 + 2 × 8.7 × 1.3 + 1.3 × 1.3] is equal to
?

[8.7 × 8.7 + 2 × 8.7 × 1.3 + 1.3 × 1.3] ds cjkcj gS ?
(a) 1.69 (b) 10
(c) 75.69 (d) 100

136.
   

   

3 3

2 2

3.06 1.98

3.06 3.06 1.98 1.98



  
 is equal to ?

   
   

3 3

2 2

3.06 1.98

3.06 3.06 1.98 1.98



  
 ds cjkcj gS ?
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(a) 1.08 (b) 5.04
(c) 2.16 (d) 1.92

137.
3.25 3.25 1.75 1.75 2 3.25 1.75

3.25 3.25 1.75 1.75

     

  
 is simplified to?

3.25 3.25 1.75 1.75 2 3.25 1.75

3.25 3.25 1.75 1.75

     

  
 dk ljyhd`r eku

D;k gS ?
(a) 0.5 (b) 0.4
(c) 0.3 (d) 0.2

138.
0.08 0.08 0.08 0.02 0.02 0.02

0.08 0.08 0.0016 0.02 0.02

    

   
 is simplified to ?

0.08 0.08 0.08 0.02 0.02 0.02

0.08 0.08 0.0016 0.02 0.02

    

   
 dk ljyhd̀r eku D;k

gS ?
(a) 0.001 (b) 0.1
(c) 0.0016 (d) 0.016

139. The greatest number among 260, 348, 436 and 524

is ?

buesa lcls cM+h la[;k dkSu&lh gS 260, 348, 436 vkSj 524 ?

(a) 260 (b) 348

(c) 436 (d) 524

140. The greatest among the numbers 3 642, 3, 5, 6

is ?

buesa lcls cM+h la[;k dkSu&lh gS 3 642, 3, 5, 6  ?

(a) 2 (b) 3 3

(c) 6 6 (d) 4 5

141. The largest among the numbers 0.9, (0.9)2,

0.9, 0.9  is ?

buesa lcls cM+h la[;k dkSu&lh gS 0.9, (0.9)2, 0.9, 0.9 ?

(a) 0.9 (b) (0.9)2

(c) 0.9 (d) 0.9

142. 12 12 12 ......    is equal to ?

12 12 12 ......    ds cjkcj gS ?

(a) 3 (b) 4
(c) 6 (d) 2

143. 3 3 3......  is equal to ?

3 3 3......  ds cjkcj gS ?

(a) 3 (b) 3

(c) 2 3 (d) 3 3

144. The number which when multiplied with

 3 2  gives  12 18  is ?

dkSu&lh la[;k gS ftls  3 2  ls xq.kk djus ij ifj.kke

 12 18  izkIr gksrk gS ?

(a) 3 2 2 3 (b) 3 2 2 3

(c) 6 (d) 2 3 3 2

145. The value of 
2 3 2 3 3 1

2 3 2 3 3 1

  
 

  
 is ?

2 3 2 3 3 1

2 3 2 3 3 1

  
 

  
 dk eku D;k gS ?

(a) 16 3 (b) 4 3

(c) 2 3 (d) 2 3

146. The square root of 14 + 6 5  ?

14 + 6 5  dk oxZewy Kkr djsa ?

(a) 2 5 (b) 3 5

(c) 5 3 (d) 3 2 5

147. The value of 
3 2 4 3 6

3 6 6 2 3 2
 

  
 is ?

3 2 4 3 6

3 6 6 2 3 2
 

  
 dk eku Kkr dhft, ?

(a) 4 (b) 0

(c) 2 (d) 3 6

148. The value of 
1 1 1

......
2 1 3 2 4 3

   
  

1

100 99
 is ?

1 1 1
......

2 1 3 2 4 3
   

  
 

1

100 99
 dk eku

Kkr dhft, ?

(a) 1 (b) 9

(c) 199 (d) 99 1

149.
     

     

2 2 2

2 2 2

0.05 0.41 0.073

0.005 0.041 0.0073

 

 
 = ?

     
     

2 2 2

2 2 2

0.05 0.41 0.073

0.005 0.041 0.0073

 

 
 cjkcj gS ?

(a) 10 (b) 100
(c) 1000 (d) None of these

150. The smallest among 6 3 412, 3, 4  is ?

6 3 412, 3, 4  blesa lcls NksVk gS ?

(a) 6 12 (b) 3 3

(c) 4 4 (d) All are equal
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Answer Sheet

1. (c) 2. (a) 3. (a) 4. (c) 5. (c) 6. (b) 7. (d) 8. (c) 9. (c) 10. (c)

11. (b) 12. (a) 13. (b) 14. (a) 15. (d) 16. (b) 17. (c) 18. (b) 19. (b) 20. (c)

21. (a) 22. (a) 23. (c) 24. (c) 25. (b) 26. (b) 27. (a) 28. (d) 29. (a) 30. (a)

31. (c) 32. (c) 33. (a) 34. (a) 35. (c) 36. (d) 37. (c) 38. (c) 39. (a) 40. (c)

41. (a) 42. (d) 43. (a) 44. (b) 45. (b) 46. (b) 47. (a) 48. (b) 49. (b) 50. (a)

51. (a) 52. (d) 53. (c) 54. (a) 55. (c) 56. (d) 57. (a) 58. (a) 59. (a) 60. (c)

61. (c) 62. (b) 63. (c) 64. (b) 65. (c) 66. (d) 67. (a) 68. (c) 69. (b) 70. (d)

71. (c) 72. (b) 73. (a) 74. (d) 75. (a) 76. (d) 77. (c) 78. (a) 79. (c) 80. (b)

81. (d) 82. (b) 83. (d) 84. (c) 85. (c) 86. (a) 87. (c) 88. (d) 89. (a) 90. (b)

91. (b) 92. (c) 93. (d) 94. (c) 95. (b) 96. (c) 97. (b) 98. (b) 99. (a) 100. (c)

101. (d) 102. (c) 103. (c) 104. (b) 105. (a) 106. (b) 107. (b) 108. (a) 109. (c) 110. (b)

111. (a) 112. (c) 113. (c) 114. (a) 115. (d) 116. (b) 117. (a) 118. (b) 119. (a) 120. (c)

121. (d) 122. (a) 123. (d) 124. (a) 125. (a) 126. (c) 127. (a) 128. (d) 129. (a) 130. (d)

131. (a) 132. (d) 133. (a) 134. (b) 135. (d) 136. (a) 137. (c) 138. (b) 139. (b) 140. (d)

141. (d) 142. (b) 143. (b) 144. (c) 145. (a) 146. (b) 147. (b) 148. (b) 149. (b) 150. (c)


